



Name: _____

Datum: _____ Ergebnis: _____

$$(-8)^{(-1)} + 5 =$$

$$8^{(-2)} + 5 =$$

$$6^2 - 4 =$$

$$(-7)^{(-1)} - (-4) =$$

$$(-4)^2 + (-4) =$$

$$(-8)^{(-2)} - 4 =$$

$$8^2 - 10 =$$

$$8^0 + (-8) =$$

$$3^{(-1)} - 9 =$$

$$(-7)^{(-1)} + 4 =$$

$$(-7)^{(-2)} + (-1) =$$

$$(-2)^{(-1)} + 5 =$$

$$5^{(-2)} - (-4) =$$

$$(-1)^0 + (-5) =$$

$$(-5)^0 + (-10) =$$

$$(-3)^{(-2)} + 9 =$$

$$8^2 - (-8) =$$

$$(-4)^2 - 3 =$$

$$3^2 + 6 =$$

$$9^2 + 8 =$$



Name: _____

Datum: _____ Ergebnis: _____

$$(-8)^{(-1)} + 5 = \frac{39}{8} = 4\frac{7}{8}$$

$$8^{(-2)} + 5 = \frac{321}{64} = 5\frac{1}{64}$$

$$6^2 - 4 = 32$$

$$(-7)^{(-1)} - (-4) = \frac{27}{7} = 3\frac{6}{7}$$

$$(-4)^2 + (-4) = 12$$

$$(-8)^{(-2)} - 4 = \left(-\frac{255}{64}\right) = \left(-3\frac{63}{64}\right)$$

$$8^2 - 10 = 54$$

$$8^0 + (-8) = (-7)$$

$$3^{(-1)} - 9 = \left(-\frac{26}{3}\right) = \left(-8\frac{2}{3}\right)$$

$$(-7)^{(-1)} + 4 = \frac{27}{7} = 3\frac{6}{7}$$

$$(-7)^{(-2)} + (-1) = \left(-\frac{48}{49}\right)$$

$$(-2)^{(-1)} + 5 = \frac{9}{2} = 4\frac{1}{2}$$

$$5^{(-2)} - (-4) = \frac{101}{25} = 4\frac{1}{25}$$

$$(-1)^0 + (-5) = (-4)$$

$$(-5)^0 + (-10) = (-9)$$

$$(-3)^{(-2)} + 9 = \frac{82}{9} = 9\frac{1}{9}$$

$$8^2 - (-8) = 72$$

$$(-4)^2 - 3 = 13$$

$$3^2 + 6 = 15$$

$$9^2 + 8 = 89$$